@ = ‘(e0"S1UN021910AAIDAS MM M)
AL

e 9oUel||Y SIUN0) J810/) Aang ay] .
{(97939-9]9) ssaibuoy Jnoge] ueipeue) ay| -

{(3yy3a/us/sea o) /es 06 ued)
w.iojey |eJ0109|3 Uo 98)IWwWo) [eloadg ay] -

uofjeuwriojui aiow 104

1euadno@ JeniM| pue

djosadno/wo9o°)}00gade) MMM Y00gsoe Uo [euoneN 3dND Moj|oS -

‘Buipll JNOA Ul PaAjOAUL 8F UBD NOA MOy 88s 01

eo"adnoguonoejeonijod e UoNOY [E21|0d IdND YUM 4oNOo} Ul 199 «

uonnad-dnNn/e2:adnd je uonejussalday

[euoniodoid Jequisy paxiN Hoddns noA mouy Juswelied 197 «

op ued noA jeym s,319H

‘epeueq ul Aoe190wap 19)1aq e
pling 0} 13y}aho)] }iom s,)197

"UOIUBAUOYD) GLOZ @Y} 18 uonejuasaiday jeuoniodoid

pHoddns 0} pajon S.laqwaw adno

"WLIoJoY [e40109|3 UO suelpeur)
}NSuU0d 0} 8d)IWWOo) [e1oadg e dn 18s sey Juswelied

OUR ELECTION SYSTEM IS UNFAIR.

Canadians feel like their votes don’t matter.

People feel like their voices aren’t being heard.
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“' BUT WE CAN MAKE IT BETTER!



The way federal elections work

now is called “first pa st the po st.” Mixed Member Proportional Representation (MMP)

is a much fairer way to elect governments than the
way we do it now.

That means that the candidate who wins the most votes

in a riding wins. No matter how tight the race was, the votes
for all the other candidates don’t matter. Those votes don’t
factor in to how the government is formed.

Voters want every vote to count, but they also want an MP who has
a personal connection to their riding. With MMP you get the best of

Parties win majority governments with less than 40 per cent both worlds: one ballot, two votes.

of overall votes. Other parties end up with few or no seats,
even if they win a substantial part of the popular vote

One vote is for your choice of local candidate and it works exactly
across the country.

the way elections work now: the candidate with the most votes wins.

That’s why countries like Scotland, Germany and New Zealand

Your second vote is for the party of your choice. The parties will have a
made the switch to Mixed Member Proportional.

ranked list of candidates who will be elected in order based on this vote.
The votes are tallied and the proportion of votes determines how many
of these seats each party gets.

And we can do it, too. We can do it now.

LET’S LOOK AT AN EXAMPLE
First past the post

Let’s say there’s a small country with

24 seats in parliament. Under the first past
the post system, you could get an election
result that looks like this:

Even when the popular
vote looks like this:

Mixed Member Proportional
One ballot, two votes.

First vote: Two thirds of the seats are for local
elections. The candidate with the most votes

When the seats from the
two votes are combined,

wins that riding’s seat, exactly as it works now.
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This is the first 16 seats. 16 seats that more closely reflects
_ the proportions in the
Second vote: One third of the seats are for H H opular vote
list MPs. The votes for each party are counted pop ’ 24 seats
and this determines how many of these 8 seats ‘H‘ ‘H‘

each party gets. 8 seats




